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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2018 

 

Subject Name: Circuits & Networks  
 

Subject Code: 2TE03CNW1          Branch: Diploma (EC) 

    

Semester: 3            Date: 02/04/2018                       Time: 02:30 To 05:30          Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 

 
Q-1  Attempt the following questions (14)  

 a) A simple network may be analyzed easily by applying  

A) Ohm’s Law B) Lenz’s law C) Faraday’s Law  D) None 

 b) How many types of circuit elements are available?  

A) 2 B) 3 C) 4   D) 5 

 c) Which one of circuit element is not passive element?  

A) Resistor B) Capacitor C) Voltage source D) None 

 d) Which one of circuit element is not active element?  

A) Current source B) Voltage source C) Inductor D) None 

 e) Which one of circuit element is Unilateral element?  

A) Diode B) Transistor C) Capacitor D) None 

 f) Which one of circuit element is not Bilateral element?  

A) Inductor B) Capacitor C) Diode D) None 

 g) An ideal voltage source has _____ internal impedance  

A) Finite B) Infinite C) Zero D) None 

 h) A practical current source has _____ internal impedance  

A) Infinite B) Finite C) Zero D) None 

 i) A voltage source supplies   

A) Current B) Power C) Voltage D) None 

 j) A current source supplies   

A) Power B)  Current C)  Voltage D)  None 

 k) Which one is bilateral network?  
A) Transmission line B) Amplifier C) Rectifier D) None 

 l) Which one is unilateral network?  

A) Amplifier B) Rectifier C) Transmission line D)  A and B 

 m) Ohm’s law is not applicable to  

A) DC circuits B) High Currents C) Small resistors D)Semiconductors 

 n) If two resistors of value R are connected in series, then total resistance is  

A) 2R B) R/2 C) R D) None 
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Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) State the different types of circuit elements. Explain each of them in brief.  06 

 (b) Resistor of 5, 10 and 15 ohms are connected in parallel with 50Vdc supply. Find 

out the equivalent resistance, current and voltage drop across each resistor.  
06 

 (c) State Thevenin’s theorem. 02 

Q-3  Attempt all questions (14) 

 (a) Explain in detail Mesh analysis with necessary equations. 07 

 (b) State and prove Norton’s theorem.  07 

Q-4  Attempt all questions (14) 

 (a) State and prove superposition theorem.  07 

 (b) State and prove reciprocity theorem. 04 

 (c) Define the terms branch, node and network. 03 

 

 

   

Q-5  Attempt all questions (14) 

 (a) Obtain the expression of resonance frequency in parallel RLC circuit. Establish 

the relation between Q-factor and bandwidth in parallel RLC circuit. 
07 

 (b) A parallel resonant circuit having Inductance of 1mh with quality factor Q=100 

& resonant frequency fo=100khz. Find out value of capacitance C, Resistance R 

& Bandwidth. If Inductance is changed to 100mh, find out new resonant 

frequency. 

07 

Q-6  Attempt all questions (14) 

 (a) Explain air core transformer with the help of necessary derivation. 07 

 (b) Write short notes on lattice attenuator. 07 

Q-7  Attempt all questions (14) 

 (a) Write short notes on symmetrical T-type attenuator. 07 

 (b) Design symmetrical T-type Attenuator having attenuation of 60 dB and load 

impedance of 600 Ω. Draw the circuit for this. 
07 

Q-8  Attempt all questions (14) 

 (a) Explain constant-K high pass filter with necessary derivations. 07 

 (b) What are the advantages of m-derived filters? Draw m-derived T and π sections 

for high pass filters. 
07 
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Q-1  Attempt the following questions (14)  

 a) સિમ્઩઱ નેટળર્ક  ન ું િરલ રીતે પથૃર્ર્રણ ર્રળા માટે શ ું ઱ાગ  ઩ાડળામાું આળે છે?  

A) Ohm’s Law B) Lenz’s law C) Faraday’s Law  D) આમાું થી ર્ોઈ નહિ 

 b) રે્ટ઱ા પ્રર્ારના િહર્િટ એ઱ીમેન્ટ્િ િોય છે?  

A) 2 B) 3 C) 4   D) 5 

 c) આમાું થી ર્યો િહર્િટ એલ઱મેન્ટટ ઩ેસિળ એલ઱મેન્ટટ નથી?  

A) રેલઝસ્ટર B) રે્઩ેસિટર C) ળોલ્ટેજ િોિક D) આમાું થી ર્ોઈ નહિ 

 d) આમાું થી ર્યો િહર્િટ એલ઱મેન્ટટ એક્ટટળ  એલ઱મેન્ટટ નથી?  

A) ર્રુંટ િોિક B) ળોલ્ટેજ િોિક C) ઇન્ટડર્ટર D) આમાું થી ર્ોઈ નહિ 

 e) આમાું થી ર્યો િહર્િટ એલ઱મેન્ટટ એક્ટટળ એર્઩ક્ષી એલ઱મેન્ટટ છે?  

A) ડાયોડ B) ટ્રાન્ન્ટિસ્ટર C) રે્઩ેસિટર D) આમાું થી ર્ોઈ નહિ 

 f) આમાું થી ર્યો િહર્િટ એલ઱મેન્ટટ એક્ટટળ દ્વિ઩ક્ષીય એલ઱મેન્ટટ છે?  

A) ઇન્ટડર્ટર B) રે્઩ેસિટર C) ડાયોડ D) આમાું થી ર્ોઈ નહિ 

 g) આદ઴ક ળોલ્ટેજ િોિક ને  _________ઇન્ટટરન઱ ઈમ્઩ૅડેન્ટિ િોય છે.  

A) મયાકહદત B) અમયાકહદત C) ઝીરો D) આમાું થી ર્ોઈ નહિ 

 h) પે્રક્ટટર્઱ ર્રુંટ િોિક ને  _________ઇન્ટટરન઱ ઈમ્઩ૅડેન્ટિ િોય છે.  

A) અમયાકહદત B) મયાકહદત C) ઝીરો D) આમાું થી ર્ોઈ નહિ 

 i) ળોલ્ટેજ િોિક શ ું િપ્઱ાય ર્રે છે?  

A) ર્રુંટ B) ઩ાળર C) ળોલ્ટેજ D) આમાું થી ર્ોઈ નહિ 

 j) ર્રુંટ િોિક શ ું િપ્઱ાય ર્રે છે?  

A) ઩ાળર B)  ર્રુંટ C) ળોલ્ટેજ D)  આમાું થી ર્ોઈ 

નહિ 

 k) આમાું થી ક્ય  નેટળર્ક  દ્વિ઩ક્ષી નેટળર્ક  છે?  

A) ટ્રાન્ટિસમ઴ન ઱ાઈન B) એમ્પ્઱ીપાયર C) રેક્ટટપાયર D) આમાું થી ર્ોઈ નહિ 

 l) આમાું થી ક્ય  નેટળર્ક  એર્઩ક્ષી નેટળર્ક  છે?  

A) એમ્પ્઱ીપાયર B) રેક્ટટપાયર C) ટ્રાન્ટિસમ઴ન ઱ાઈન D)  A અને B 

 m) ઓિમ નો સનયમ ઴ેને ઱ાગ  ઩ડતો નથી?  

A) DC િહર્િટ B) િાઈ ર્રન્ટ્િ C) નાના રેજજસ્ટિક D) િેસમર્ન્ટડટટિક 
 n) જો ફે R મલૂ્યના રેજજસ્ટિક સિરીઝ માું જોડળામાું આળે તો ક ઱ અળરોધ શ ું થ઴ે?  

A) 2R B) R/2 C) R D) આમાું થી ર્ોઈ નહિ 

       



Page 4 of 4 

 

  પ્રશ્ર્ન-૨ - પ્રશ્ર્ન-૮ મ ાંથી કોઈ઩ણ ચ ર પ્રશ્ર્ન  જવ બ આ઩ો  

પ્રશ્ર્ન-2   બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) જુદીજુદી જાતના સર્કિટ એલ઱મેંટ્સ કહો અન ેદરેકન ેટુકમાાં સમજાળો    ૦૬ 

 (b) ૫, ૧૦ અન ે૧૫ ઓહમના અળરોધને ૫૦ ળોલ્ટના સપ્઱ાય સાથે સમાાંતર ઱ગાડે઱ છે. સમતલુ્ય અળરોધ, કરાંટ 

અન ેદરેક અળરોધ સમાાંતર ળૉલ્ટેજ ઴ોધો.  
૦૬ 

 (c) થળેનેીન થીયરમ કહો. ૦૨ 

પ્રશ્ર્ન-3  બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) મ઴ે એના઱ીસીસ યોગ્ય સમીકરણો સાથે ળણણળો. ૦૭ 

 (b) નોરટોન્સ થીયરમ કહો અન ેસાલફત કરો. ૦૭ 

પ્રશ્ર્ન-4  બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) સ઩ુર઩ોજજ઴ન થીયરમ કહો અન ેસાલફત કરો. ૦૭ 

 (b) રેકીપ્રોસીટી થીયરમ કહો અન ેસમજાળો. ૦૪ 

 (c) બ્રાન્ચ, નોડ અન ેનટેળકણન ેવ્યાખ્યાયીત કરો.  ૦૩ 

પ્રશ્ર્ન-5  બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) RLC સીરીજ સરકીટનુાં રેજોનન્સ ર્િકળન્સીનુાં સમીકરણ મલેળો. Q-factor અન ે ફેંન્ડળીથ ળચ્ચનેો સફાંધ 

પ્રસ્થાપ઩ત કરો.  
૦૭ 

 (b) RLC સમાાંતર સરકીટમાાં L = 1 mH અન ેQ = 100 અને રેજોનન્સ ર્િકળન્સી f0 = 100KHz છે. તો તનેા માટે 

કે઩પેસટન્સ C, અળરોધ R અન ેફેંન્ડળીથ ઴ોધો. જો ઇન્ડકટન્સની ર્કિંમત 100mH થાય તો   રેજોનન્સ ર્િકળન્સી 
઴ોધો. 

૦૭ 

પ્રશ્ર્ન-6  બધ  પ્રશ્ર્નન  જવ બ આ઩ો    (૧૪) 

 (a) જરુરી ડેરીળ઴ેન દ્વારા એર કોર ટ્રાન્સપોમણર સમજાળો. ૦૭ 

 (b) ઱ટેાઈસ-ટાઈ઩ એટેન્યએુટરની ટુાંકનોંધ ઱ખો.  ૦૭ 

 

પ્રશ્ર્ન-7  બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) સીમેટ્રીક઱ T-ટાઈ઩ એટેન્યએુટરની ટુાંકનોંધ ઱ખો.  ૦૭ 

 (b) સીમેટ્રીક઱ T-ટાઈ઩ એટેન્યએુટરની ર્ડજાઇન કરો જેમાાં એટેન્યએુ઴ન 60 dB હોય અને ઱ોડ ઈમ્઩ીડન્સ 500 

Ω હોય. તેની સરકીટ દોરો. 
૦૭ 

પ્રશ્ર્ન-8  બધ  પ્રશ્ર્નન  જવ બ આ઩ો  (૧૪) 

 (a) કોન્સ્ટાંટ-K- હાઈ઩ાસ પીલ્ટર જરુરી સમીકણરણો સાથે સમજાળો. ૦૭ 

 (b) M - derived ર્પલ્ટરના ક્ાાં ક્ાાં પાયદા છે?  હાઈ઩ાસ પીલ્ટર માટે m-derived T અન ેπ સકેસન દોરો. ૦૭ 

    

    
 


